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= R BERIE
HALD kv
LS BEAEE 25 BEHA &t
4] 0. 00 2, 389. 62 2, 389. 62
51 2, 359. 59 1,274. 95 3, 634. 54
6] 2,390. 17 0. 00 2,390. 17
7H 2,472. 70 0. 00 2,472.70
8J] 1,633. 74 2, 140. 35 3, 774. 09
9H 0. 00 2, 050. 94 2,050. 94
10 A 846. 95 2, 468. 38 3, 315. 33
11)] 2,389. 43 678. 30 3,067. 73
121 2, 149. 40 1,093. 98 3, 243. 38
] 650. 76 2, 469. 69 3, 120. 45
2J] 1,091. 88 1,297. 20 2, 389. 08
3 2, 469. 57 0. 00 2,469. 57
=t 18, 454. 19 15, 863. 41 34, 317. 60
PRIGE DR,
(1) 1B-BEAENF
PRBETT ZIRE [HECABiAT 2 mE] —RR (VIR EEE
T | D U ABAL FEZEA
HANL C C ppm
1] - - -
5] 901 200 14
61 850 200 18
7)] 854 200 12
81 874 200 12
9H - - -
10 )] 884 200 16
11H 897 200 18
12 896 200 19
] 889 200 15
21 3883 200 11
3 891 200 13
(2) 2B-BEANF
RBEH ZIRJE [ CABRAT 2 RE] —R{bREEE
Tw | s £ U ABAD PN
HANL C C ppm
41 889 200 15
51 886 200 14
6/] - - -
7] - - -
8J] 872 200 15
9H 883 200 17
10 887 200 13
111 875 200 11
121 876 200 18
] 884 200 16
2J] 898 200 15
3H -
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PR AJRPESIHTRE R

1S REENF Hifir | EEEE | i Eh e T s
PRI A - - - 6208 | 7H17H | 113198 | 12H6A | 2H258 | 3413A
= H - - - 7H4H 8H2H | 12H4H | 12H20H8 | 3H6H | 3A31H
WA g/mN 0.15 0.02 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0.001
TR ppm - 30 15 3 4 8 2 7
ERBY ppm 250 100 77 63 63 97 50 47
HAbKkE mg/ mN 700 50 (ppm) 16 21 11 19 19 7
25 BERNF Hifir | EEEE | dE T s S
FRIA - - - 4228 | 5H16H | 8H9A | 9H26A [10H17H | 1H20H
ZHH - - - 5H23H 6H4H | 9A9H | 9A30H | 11HA22H | 2H18H
W CA g/ mN 0.15 0.02 <0. 001 <0.001 | <0.001 | <0.001 <0. 001 <0. 001
TR ppim - 30 5 6 6 7 10 4
BRIy ppm 250 100 67 56 74 86 79 70
HAbKE mg/ mN 700 50 (ppm) 28 22 12 27 29 22
XTIV C A, BRI OHEAL/KF X0 126 REZ LR L TRV £7°,

4 AT HHAERE R
SFITCAEE (20194E)%) WORIEZ TEL TEY £,

BANT :ng-TEQ/mN

wnn | man |wews| S5 | wew
15 BEENAR 8H9H 12H25 K JEE 5 0.12
25 BEANF | 10A17H JCISTES 5 0.17

KRN DG EXHE T2, HIRED DN £7,
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(1) 15-BEAENE
F i H 77 A Vs HIZR P A IR G
8/26~9/13 HERE R 2 HERERR 2
1/31~2/13 HERIR = HERDR =

(2) 2B-BEANF
F i H 77 A Vs HIZ P A IR G
5/27~6/25 HERE IR 2 HERERIR 2
11/17~11/30 HERDIR = HERDR =
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